REBRPE L1082 F LR BRI =N Es B Bale F#

- H-EAEFAAL 0 £ 1002

. ( )¥wB LM 24=70"> pl 21+ £2+ £3=7
] L
2
3
\‘ M
(A)70° (B)110° (C)150° (D)F#* &> @iz &
G
2. ( )4® > &AABC*® > AB>AC* BD=CD - B
18 2= icsm?
A
%\
B D C

(A)z1> .2 (B)zl< 22 (CH)z1=2,22 (D) % i
FEE_e°

3. ( )EzZ & L5160 P 2 RIDE Fichz &
L3 AE?2 (A4 (B)5 (C)H6 (D)7

4, ( )THEREY e ARG - B AT e EA
BB oraaE L ERZ AR H¥VR- B 5T
Fe#2,2 (A)

89’
50 . 5
91
(B) (C) 9
90° 89°
51 . 5 50 .
90 91
(D) 9
90°
5 o
90

5 ( )e&wTiEwa,ABCDY » LALE 4> %L
34 2 > BD L 13 24 » BT 7w £35 ABCD ¢
AP ? (A)S2T3 24 (B)56T3 2
A (CH)B0T = 2n (D)112T= 24 o

6. ( )4c® - =2, ABCD~EFGH % 3 T 7w if4)
% .,1=70"> /B=95" > p| L/H=7?

(A)60° (B) 95° (C)70° (D)65" -

7. ( )icHE > e w? s 2 \ﬁ?lz{,l‘z\zﬂ}‘fl%“%ﬁﬂa‘rﬁ%ﬁ
AT T Ay ¢ plEH Y - & A u G 90
~85°~98" > Al fe & g ffE % ?

B 85° 98"
(A)" (B)z (C)F (D)zH- -~ -
8. ( )W Ti7wi#2; ABCD s #f 5 28 T H =

s ZE~FA UL AB -~ CDeP 85 i F iz 3, 1%

JESIE W42,
Al445 ABHG tha 5 5 5 2 T2 H = 9

(A)24 (B)28 (C)32 (D)ifir7 &> @iz ¥ o
9. ( )&#7;ABCD ¥ > AD//BC » AH LBC > 7}
ABCD # # % 36 T = ¥ = » AH =9 B] st 35
ALY B M anE 5?2 (A)4 (B)S
(C)12 (D)16-

)=l > #-7; ABCD ¥ - AB =4 CD=6" EF %
A P BLebig BB > Ple 187 ABFE fre i#9)

EFCD ¢ ff 1+ = 9
A~ 4 —B

/ \
D 6 C
(A)2:3 (B)5:7 (C)7:9 (D)9:11-

L (4ol @ diabens [ M52

10. (

(A)a<b (B)a=b (C)a>b (D)% sz -
12. ()4 ® > AABC*® - BD=CE > BE >CD - A/ AB

'f‘—"ATC k[ MAL R

>

C
B

(A)AB>AC (B)AB=AC (C)AB<AC (D)#

R FE o

13. (

)4c® » AABC ¥ » AB=AC > % AB > BC »

Fedi xR G P2
A

B C
(A)B0<x<90 (B)30<x<60 (C)60<x<120
(D) 90<x<180 -

14. ()@ > L/, B .BCD— ZABC= ?
A1
30° !
B
C
45°
D L,
(A)10° (B)25° (C)20° (D)15° -
15. ( )4® > 43, ABCD ¥ > E % BCeh® gt iF

Z/AEC eh4& T o< AD* Fees 2 AB =3
AD =8> DF & B 5 i@ ?



A F D

B > c
(A)2 (B)4 (C)3 (D)5~
6. ( )eawRE-Z4mdda BEE L 40125 F
RS ES SR A Y ¢ NI
hpzgEs®? (A1l (B)23 (C)H17
(D) 13-
17. ( )eB = e 2 ABCD ¥ » AC#BD4p2* O
2., ® OE 1 DC » £ AACD i f§ 5 64 T = 2
s OE=4 24 > BC=12 24 » BT 7w £33
ABCD 1% £ 5 fn ?
D
0
E
B C
(A)3224 (B)56 =4 (C)6024 (D)642s
18. (  )4cH > = #3; ABCD £ EBCF 5% T (7w 3

oA w3624 T3 H o Pl IRNE R
Basr T 2EE?

A D
E F
B C

(A)4 (B)12 (C)10 (D)6-
19. ( )&#ETs 1+ A(9,8) ~B(4,8) ~C(7,2) >

e DEBAY - %', ¥ ¢ ABCD A5 - T 5

i) DR iP? (A)(8,2)

(B) (10,2) (C) (12,2) (D) (14,2) -
20. ( )4-m® - 242, ABCD*® > AB//CD > * AC# BD

208k, ¢ wAABD hw ff 5 20 T > H i
» ABOC ehwa # 5 11 T = H = » P|AABO
3 Y gx')l—gﬁfi?

/N

B
(A)9 (B)10 (C)11 (D)12-

D

C

21. ( )4® - #3; ABCD * > Al=I1G =GE=DE > BJ
=JH=HF=FC > AB=6> CD=12> &EF + IJ
=?

A B

I J

G, H

A F
D/ C

(A)14 (B)16 (C)18 (D)20-

22. ( )4rH = xAB =6 AABD & # : ABCD & #
=3:5, p#3, ABCD % %&° g MEink 5 5
,I)?

D C
(A)7 (B)10 (C)9 (D)8

23. (1 )R- ) Y- KRBT OMLIEBS
-*f“‘.%’w%’HAB,a BE A LTER BET FA
AAXY > 4eB (= )57 0 BB M 8L & AAXY
el R P S U o I FE 9

A M B
B(-)
Y
120°
(B) /35° 25 X
A
B(=)
(A)aXY i g b (B)&AX F > 7§ X BT » JEA
gt (C)RXY F o ¥ i X BLRGT 0 JE Y Bhinid
(D)&XY } 5 ® jEY BLRGT > §E X BEIRE o

2. ( )@ 2AABC*® D 32BC*® g £AD <
]__

> BC BT Al n
A
B 5 C
(A)«ZBAC=90" (B)«BAC>90" (C)«ZBAC<90°

(D)re k2o

25. ( )4®  AABC*® - ~A=50"> ~B=60" -
DE//BC » DF = » /BDE » EF * 4 /DEC - 7]
~DFE+ ~EDF= ?

A
D E
B C
F
(A)130° (B)125° (C)120° (D) 115°



